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Math 2: Unit 4B Review Sheet

Part 1: Writing Variation Equations.
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Part 2: Variation
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Ifa vaﬁes[&i}-ectl as b, and a=24 when b=72, find the equation of variation.
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If the velocity of an object, v, va=riewith the time it takes to travel the distance, t. The object
takes 75 minutes to travel 15 * Find the equation of variation.
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The number of minutesTiéeded to solve an exercise set of variation problems varies chrectlgas the number
of problfl.'& andl 1nverselg as the number of peopf(worklng on the solutions. It takes 4 people 36 minutes to
solve 18 problems. Determine the equation of variation. )
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7. ﬂvane@as w an(iﬁnv&lise@ with the cube of r. Iff=3 when w = 4 and r= 1, then find®when
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Part 3: Applications of Variation
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8. The time it takes for a train to travel varies(inversely with the speed the train is traveling. If a train travels
between two cities in 3 hours at an average speed of 65 miles per hour, @oug it take at an average
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9. The distance that a spring is stretched by a hanging object varles directly as the mass of the object. If the
spring stretches 20cm when the mass is 3kg, what is the dlstance that the sprmg stretches when the mass is
‘kg'? g

Part 4: Graphing Inverse Variation (Reciprocal Functions)
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